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i
*)u 1§ B : mm
BREER @250 ®»320 ®» 400 ®»500 ®»630
RILEE 160 210 255 310 400
— AR FLE ®95H7 @ 130H7 ® 190H7 @ 220H7 ®»60H6
1L\
@l 71 ®101 ® 151 $182 ®»60
EATRIE* 12H7 14H7 14H7 18H7 18H7
TE (R 18h7 18h7 18h7 18h7 18h7
{7 AR =38 (FANUCH) aiF8 aiF12 aiF12 aiF12 aiF12
A R E R x103kg-m? 0.94 3.04 3.63 3.00 5I55)
[x103kgf-cm-sec?] [9.58] [31.0] [37.0] [30.6] [56.6]
FREE kg 105 185 300 550 800
RORELL 1/90 1/120 1/120 1/180 1/180
BEREIEGRE min’'

* (£4152,000min”) 22.2 16.6 16.6 11.1 11.1
DERBE(RR) 02 14 14 14 14 15
FEFI SHESKEHAEGER) | SHESZHEGEM)  HESIZHEQEDR)  CHESZHEEGCER) | RS HE (Em)
J ZiH5E N-m 1.000 2,450 4,200 6,100 4,410
/X 3.5MPa[35kgf/cm?] [kgf-m] [102] [250] [428] [622] [450]
IR N-m[kgf-m] 581[59] 939[96] 1,666[170] 3,276[334) 4,116[420]
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( ):fErRmEN
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19,600 29,400 39,200 49,000 49,000
i [kgfl [2,000] [3,000] [4,000] [5,000] [5,000]
BARRE 1,000 2,450 4,200 6,100 4,410
(AR kgf ml [102] [250] [428] [622] [450]
FXL =L o
$ N-m 980 3,626 5,880 13,132 7,840
EE lkgt-m] (100] 1370] [600] [1,340] 1800]
W-D?
= J=""= kg-m?
BA 8 W 234 5.12 9.7 18.2 49.6
TRt sech [23.8] (52.2] [98.9] [185.2] [506.2]
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RCV-800 (m#lLEME) 360
RCV-1000 (&4l L E#1) $410
RCV-1250 (s#l L EME) 500
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